Probability 1 Quiz 4 Semester I 2016/17

rGround Rules: Time allowed is 15 minutes, individual work only and closed book t%il

Y S, S 0 KKAA—' N Score : \

1. Suppose we toss two fair dice. Let E; denote the event that the sum of the dice is. six. Ep
d.enote the event that sum of the dice equals nine Let F' denote the event that the first die equals
three. Is E; independent of F? Is E, independent of F'?
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2. Suppose that airp!ane engines operate independently in flight and fail with probability % A
plane makes a safe flight if at least half of its engines are running. Airline A has a four-engine

plane and Airline B has a two-engine plane for a flight from Bangalore to Delhi. Which airline
has the higher probability for a successful flight?
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Probability 1 Quiz 4 Semester 1 2016/17

[around Rules: Time allowed is 15 minutes, individual work only and closed book t%ﬂ
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